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@ Year 4 Week 9 - Homework Name

on methods challenge! -

H
© The boa constrictor is 2m long. The python is 165 cm. How i
much longer is the boa constrictor? i
A i
1
-~

@ Explain why it might be better to do 1000 — 767 using Frog and
85 - 767 using column subtraction.

Ifound this:
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@ Yeor 4 Week 9 - Homework - Answers  Name
Mystery subtraction —_— e = =

Complete the first subtraction.
Find the missing numbers in the second subtraction.

© 300 120 © [400 130
400 30 14 500 40 13
-200 8 6 -200 60 |3
100 + 40 + 8 = 148 200 70 s

Complete these subtractions.

60 O o

600 70 14 200 120 q
- 200 50 8 - 100 50 4
400 +10 + 6 = 46 0+70+5=175
O 300 10
400 50 13
- 200 60 8

100 + 80+ 5 = 185

5 30 200
© 700 - 465 = 235 i —t
65 700
2 20
@300-278-|22 i t
278 300

Q8 7_10 100
©500-383=[117 i‘! —
83 500

-+ 27

Fitowidth [T Pageview | A Read aloud

@ Yeor 4 Week 9 - Homework - Answers  Name

Subtraction methods ¢ ge!

© The boa constrictor is 2m long. The python is 165cm. How
much longer is the boa constrictor?

Children should ideally use
Frog to work this out.

200 - 165 =35cm

@ Explain why it might be better to do 1000 — 767 using Frog and
985 — 767 using column subtraction.

Children should say something like the following in their
answers:

Column subtraction is tricky for 1000 - 767 because we are
subtracting from a multiple of 100, and because 1000 has
three zeros, if you use column subtraction you will have
to move 1000 to the hundreds place, 100 to the tens place
and 10 to the Is place to subtract the ones digit. As we

are subtracting from a multiple of 1000, it is very easy to
count up using Frog, as we simply hop 33 and then 200.

Ifound this:
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Mystery multiplication —_— o= = 1 Division challenge! [
© circle the calculation in each pair which you think will have i © show Jim how to do divisions by solving 75 + 4. i
the greater answer. i !
[4x256 or5xi35 | [(3x23 or 6x115 i i

5x233 or 4x264

© Work each one out using your favourite method.

. J

© Would the answer be bigger or smaller if you divided 75 by 3?

N /

Correcting Jim

© Look at Jim’s divisions below. He has made the same mistake
in each one! Can you identify it?

87+5 82:6 N
x5=87 x6=82
10 x 5 = 50 10 x 6 = 60
37 2
7x5=35 3x
2 4
104+2,r7 10443 | —
87:5=12r7 82:6=14r3 ~ 7/ M

© Easy ) Challenging ) Ineeded help

1142
H O Type here to search 9 16/06/2020





image10.png
& > O @ | O files//C/Users/user.YSGOLKNIGHTON/Documents/online%20tasks/Week%209/week%209%20homework _sheet_4_10_answers.pdf * = L e
of2 | 0O + 9 7 Fittowidth  [T) Pageview | A) Readaloud /. Addnotes & & & | 2
@ Yeor 4 Week 10 - Homework - Answers  Name @ Yeor 4 Week 10 - Homework - Answers  Name

Mystery multiplication —_— o= = 1 Division challenge! —_— o= mm ,
! !
© circle the calculation in each pair which you think will have i © show Jim how to do divisions by solving 7 i
the greater answer.  Children’s own answer. i !
@ x4=75 75:4=18r3
[4x256 or 5135 | (3x234 or 6x115 i T i
H 35 §
5x233 or 4x264 8x4=32
3
© Work each one out using your favourite method. ( 18
. /
© Would the answer be bigger or smaller if you divided 75 by 3?
4 x 256 = 1024 5x 135 =675
P T3] ) The answer would be bigger
5x233=1165 4x264=1056 A

- ing Jim | = = ==

© Look at Jim’s divisions below. He has made the same mistake
in each one! Can you identify it?

87+5 82:6
x5=87 x6=82 |
x5 50 660 | Jim has muddied up the
=5 X252 | second total with the
remainder, so he has
_7x5=35 3x6=18 | 12r7instead of I7 r2and
2 4 14 r3instead of 13r 4.
10+2,r7 10+4,r3 -
87+5=12r7 82:6=14r3 \_ J Ifound this:

Easy Challengin:
ging

114
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Use expanded or compact addition to answer these.
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12. 8791
Think. 5555, 7777, 9944, 12221

Children should notice a pattern Page 64
of repeating digits which alters Questions should be answered
04 slightly when digit exchange using column addition.
0a oceurs. Think: Q12 has the largest answer.
Q7 has the smallest answer.
ot Page 61 I 12068
10. 07 2. 9057
Questions should be answered
n o5 using column addition. 3. 10267
2. 02 1. 7950 4. 7905
3. 503 2orl 09 2. 4210 5. 13932
14, 4%, 46, 455, 49 3. a715 6. 11364
15. 3410 4. 6900 7. 7246
16. 55410 =55 5. 6873 8. 8007
6. 8I42 a. 11620
7. 42410 =42 7. 3972 10. 12922
18 29x10=29 8. 6810 I 13304
a. 310 12. 14 045
Page 59 10. 4107 13. Answers will vary but the
[ . 5671 answer must be 11 053.
2. . 7352
31 13. 6427 Page 65
4 1k 14. 7507 2009
5. 22 5. 12584 10kg
o
6 48 16. 16 034 Ikg

. 7
Fractions for I-6 should be Think. Answers will vary. 009

I
2
3
4.
marked on a number line. 5. 8kg
7. 14 Page 62 6. Ig
8. 21 Questions should be answered 7. 125kgorlikg
N using column addition. 8. 2kg
a. 26 a

I. 2517 +185+17 = 2719 . 1kg

10. 19 2. 9632+ 808 + 94 = 10534 10. 075 kg or 2 kg

n 23 3. 4622 +362 + 17 = 5001 I 05kgortkg

2. 15 4. 8593 + 362 + 45 = 9000 12. 15 kg or It kg

Ordered I'4, I'5, 19, 21, 2:3, 26 5. Answers will vary. 3. 25kg orat kg

- i
13, 22x10=22 6. Answers will vary. 6. 275 kg or 22 kg
14, 31+10=31 - - Think. Answers will varv.
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Mystery subtraction —— 1
Complete the first subtraction. %
Find the missing numbers in the second subtraction. !
© 300 120 (2] i
40 30 14 500 40 I3 i
-200 8 6 - 200 60 H
70 5
Complete these subtractions.
o 600 70 4 ° 200 20 9
- 200 50 8 - 100 50 4

400 50 3
- 200 60 8

Frog subtractions

Use Frog to complete these subtractions:

©700-465= g
©300-278- ﬁ(

©500-383= a
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